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QUESTION 1

In this exhibit, a new SCTP profile is configured on the MME. 

Which interface(s) in the given exhibit can be associated with this profile? 

# cmm sctpProfile create –name sctp-profile –rtoMin 100 –rtoMax 500 

A. S1-MME only 

B. S11 only 

C. Both S1-MME and S6a 

D. Both S11 and S6a 

Correct Answer: C 

 

 

QUESTION 2

Which of the following functions is NOT performed by MME when it receives a TAU from a UE? 

A. Perform message integrity check 

B. Inform HSS of the UE\\'s current location 

C. Check if UE requests access to a restricted tracking area 
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D. Send paging message to a list of SGWs belonging to UE\\'s registered tracking area 

Correct Answer: D 

 

QUESTION 3

Which of the following statements regarding GTP-C is FALSE? 

A. GTP-C is a tunneling protocol. 

B. GTP-C runs over UDP/IP. 

C. GTP-C is the control plane part of GTP. 

D. GTP-C messages carry Attribute Value Pairs (AVPs). 

Correct Answer: C 

Reference: https://en.wikipedia.org/wiki/GPRS_Tunnelling_Protocol#GTP-C_-_GTP_control 

 

QUESTION 4

Which of the following statements regarding an EPS dedicated bearer is FALSE? 

A. A dedicated bearer is any EPS bearer to a PDN that is already connected to the UE. 

B. A dedicated bearer can be either a GBR or non-GBR bearer. 

C. A dedicated bearer remains active as long as the UE is attached to EPS. 

D. A dedicated bearer uses the same IP address that was allocated for the associated default bearer. 

Correct Answer: B 

Reference: https://www.mpirical.com/glossary/gbr-guaranteed-bit-rate 

 

QUESTION 5

Given the exhibit, which type of message is sent from the MME to the lawful enforcement monitoring facility (LEMF) for
lawful interception support? 
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A. Intercept request message 

B. Location request message 

C. Content of communication (CC) message 

D. Intercept related information (IRI) message 

Correct Answer: C 
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